
PIANO STAND INSTALLATION GUIDE

1  x1 2  x1

5  x4 6  x12 7  x4

8  x4 9  x4

3  x1

4  x1

M4*12mm M5*50mm

M6*50mmM5*30mm

English

Français

Deutsch

Italiano

Español

日本語

First of all, please check and confirm whether the components are complete. Please prepare a cross screwdriver for the piano stand assembly.

Avant l'installation, veuillez vérifier d’abord si les pièces sont complètes. Veuillez préparer un tournevis pour l'installation.

Bitte überprüfen Sie vor der Installation zuerst, ob die Teile vollständig sind. Bitte bereiten Sie einen Schraubendreher für die Installation vor.

Prima di effettuare il montaggio, controllare se tutti gli elementi sono presenti nella confezione. Preparare un cacciavite a croce per il montaggio del supporto.

Primero, verifique todos los accesorios antes de la instalación para detectar si están completas. Prepare un destornillador para facilitar la instalación.

まず、組み立てる前にパーツが揃っているかご確認ください。 組み立てるにはドライバー一つをご用意ください。

English

Français

Deutsch

Italiano

Español

日本語

1. Use 12 pcs M4x12mm screws to fix the 4 pcs L-shaped brackets on the left and right stand plate (1, 3) with the cross screwdriver.

1. Utilisez un tournevis pour installer 12 vis M4*12 mm et 4 tôles de fer en forme de L sur les plaques d’appui gauche et droite (1, 3).

1. Installieren Sie 12 Stücke M4 * 12mm Schrauben und 4 Stücke L-förmige Eisenplatten an den linken und rechten Stützplatten (1, 3). 

1. Installare 12 viti M4*12 mm e 4 staffe di ferro a forma di L sulle piastre di appoggio sinistra e destra (1, 3) con un cacciavite a croce.

1. Instale los 12 tornillos M4*12 mm y las 4 chapas de hierro en forma L en las placas de apoyo izquierda y derecha (1, 3) con destornillador.

1. ドライバーで12本のM4 * 12mmネジと4枚のL字型の鉄片を左・右のサポートプレートに取り付けます（1、3）。

3   

5   

6   

1   

Email: service@donnerdeal.com
www.donnerdeal.com
Copyright © 2022 Donner Technology. All rights reserved.
Made in China

24h U.K. 
Tel: 0044 2080 895 663

U.S.A.
Tel: 001 571 3705977

CANADA
Tel: 001 613 4168166

AUSTRALIA
Tel: 0061 384004871

FRANCE
Tel: 0033 970019475

JAPAN
Tel: 0081 5052130367

1



English

Français

Deutsch

Italiano

Español

日本語

2. Use 4 pcs M6x50mm screws to fix the pedal box with left and right stand plate.

2. Utilisez 4 vis M6*50mm pour installer le pédalier sur les plaques d’appui gauche et droite.

2. Installieren Sie das Pedalbox mit 4 Stücken M6*50mm Schrauben an die linke und rechte.

2. Installare la scatola per pedale sulle piastre di appoggio sinistra e destra con 4 viti M6*50mm.

2. Instale la caja de pedal en las placas de apoyo izquierda y derecha con 4 tornillos M6*50 mm. 

2. M6 * 50mmネジ4本でペダルボックスを左・右サポートプレートに取り付けます。

English

Français

Deutsch

Italiano

Español

日本語

3. Use 4 pcs M5x50mm screws to fix back  plate with left and right stand plate. Then,  the piano stand is completed.

3. Utilisez 4 vis M5*50mm pour installer la plaque arrière sur les plaques d’appui gauche et droite. Le support de piano numérique est ensuite installé.

3. Installieren Sie die Rückplatte mit 4 Stücken M5*50mm Schrauben an die linke und rechte Stützplatte. Dann ist der Keyboardständer fertig installiert.

3. Installare la piastra posteriore sulle piastre di appoggio sinistra e destra con 4 viti M5*50 mm. E il montaggio del supporto per pianoforte è completato.

3. Instale el plano posterior en las placas de apoyo izquierda y derecha con 4 tornillos M5*50 mm. Luego el soporte para piano está totalmente instalado.

3.  M5 * 50mmネジ4本で後部板を左・右のサポートプレートに取り付けます。エレクトリックピアノスタンドが組み立て完了です。

English

Français

Deutsch

Italiano

Español

日本語

4. Fixed digital piano on the piano stand with 4 pcs M5X30mm screws.

4. Fixez le piano numérique sur le support avec 4 vis M5*30 mm.

4. Befestigen Sie das E-Piano mit 4 Stücke M5*30mm Schrauben an den 

    Keyboardständer.

4. Fissare il pianoforte elettrico sul supporto per pianoforte con 4 viti 

    M5*30mm.

4. Fije el piano digital en el soporte para piano con 4 tornillos M5*30 mm.

4. M5 * 30mmネジ4本でエレクトリックピアノをスタンドに固定します。

2   

7   

7   

9   4   

9   

8   

8   

2


